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Lx% = 144
o 1Ly -24y+144=0

(a) e x<y

(b)afzx<y

() TRy <x

(d)afTy<x

(e) e x =y a7 I T Ty T Al hAT ST THaT 2
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I.2x*-9x+10=0
2 i

Q. IL2y°-13y +20=0
(a) e x<y
(b)afax<y
(T y<x
(d) 7Ry <x
(e) afe x =y a7 Ff2 1< Faey woqriva 7T FoFaT ST 71kt 21
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I 2x*> + 15x+ 27 =0
IL2y*+7y+6=0

(a)?flﬁ'x<y
(b)afzx<y
() afty<x
(d)afTy<x
(e) e x =y a7 T2 I Hae TG Al FhAT ST THaT 2
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L3x*-13x+12=0
gs. IL3y*-13y+14=0

(a) T x < y

(b)afzx<y

(o) ATy <x

(d)afTy<x

(e) e x =y a7 I T Hae T Al h AT ST THaT 2
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L5x°+8x+3=0
IL3vi+7y+4=0
Q5 ¥y ¥y

(@) FfTx<y

(b)afax<y

() TRy <x

(d) 7Ry <x

(e) e x =y a7 I T Ty T Al hAT ST THaT 2
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L 255+ 35x+12=0
2 o
Q6. . 10y +9y +2=0

(a)xzy

(b)x<y

(Ax<y

(d)x>y

(€) x = y AT X 3T y o = Hael TATMUT A5l (HAT ST ThaAT &
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L1233+ 7x+1=0
2 ==
Q7. .6y +5y+1=0

(@ xzy

(b)x<y

(Ax<y

(d)x>y

(€) x = y AT X 3T y o = Hael TATIUT Tl FhAT ST Tl &
L1Difficulty 2

QTagsQuadratic Inequalities

QCreatorDeepak Rohilla

I.3x2-13x—10=0
I.3y2+10y—8=0

(a)xzy

(b)x<y

(Ax<y

(d)x>y

(€) x = y AT X 3T y o = Hael TATIUT Tl THAT ST Tl &
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I.2x2-21x+ 52 =0
2— =
0o, W-2y2-1ly+12=0

(a)xzy

(b)x<y

()x<y

(d)x>y

(€) x = y AT X 3T y o = Hael TATUT A5l THAT ST THaAT &
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.3x%-13x+14=0
2 _ e
Q0. I.2y2 -5y + 3 =0
(@)xzy
(b)x<y
(c)x<y



(d) x>y

(€) x = y AT X 3T y o = Hael TATMUT A5l THAT ST ThaAT &
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.3x2 —13x+14=0
Q1L IL.3y2—17y+22=0
(a) x>y
(b) afE x>y
(c) FfTx<y
(d) Ffaxs<y
(e) T x=yIATx AT yF = FIS Ay TATIT AGT AT ST AT )
L1Difficulty 2

QTagsQuadratic Inequalities
QCreatorDeepak Rohilla

.2x24+9x+9=0
2. 1L 492 +9y +5=0
(a) x>y
(b) afE x>y
(c) #x<y
(d) afex<y
(e) I x =y IATx AT yF = FIs A4 TATIAT Al AT ST THaT g
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Lx2—7x+12=0
2 __ —
ors, 12V7 — 19y +44 =0

(a) x>y
(b) TfEx2y
(c) FfTx<y
(d) afex<y
(e) I x =y IATx AT yF = Fls TG4 TATMAT Al AT ST THaT 2|
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Eax 4% —12=10
2 —_— _— f—
Q14 Iy —5y—14=0

(a) x>y
(b) T x2y
(c) FfTx<y
(d) Ffaxs<y
(e) T x=yIATx AT yF = FIS Ay TATIT AGT AT ST AT )
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L3x2—22x+40=0
2o - —
o5, 11 5Y> —21y +16 =0

(a) TR x>y
(b) T x2y
(c) #x<y
(d) afex<y
(e) I x =y IATx ATy = Fls TG4 TATIAT Al AT ST THaT g
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Solutions

S1. Ans.(b)

Sol.

Lx*=144

=x= 112
ILy*-24y+144=0
=y-12)*=0
=y-12=0
=y=12

So,x=vy

S2. Ans.(b)
Sol.



L2x%-9x+10=0
=2>x-2)(2x-5)=0

5
=}x=2m"5
IL2y*-13y+20=0
=(y-4)(2y-5)=0

5
Syrsikore
LY 2X

S3. Ans.(a)
Sol.

L2x*+15x+27=0
=2x+(x+3)=0
-9
>x=—or—3
IL2y*+7y+6=0
=[2y+3)(y+2)=0
3

=2>y=—cor—2
LELY

S4. Ans.(e)

Sol.

L3x*-13x+12=0
=(Bx-4(x-3)=0
4
=x=zor3
IL3y*-13y+14=0
=(By-7)¥-2)=0
i
:}y=§or2

50, no relation exists between x and y

S5. Ans.(d)
Sol.

L5x*+8x+3=0
= (5x+3)(x+1)=0
::-x=_—53 or—1
IL3y* +Ty+4=0
=2(v+1)(By+4)=0

1 —4
=y= —lor—
v or 3
So,x=vy

S6. Ans.(c)

Sol.



.25x% +35x+12=0
= 25x%° + 20x + 155+ 12 =0
= [(bx+4)(bx+3)=0
4 3
R
IL10y* +9y+2=0
= 10y° + 5y + 4y +2=0

=2y +1)(by+2)=0

1 2
2F¥=T
¥>X
S7.Ans.(a)
Sol.

L1222 +7x+1=0

=12x°+4x+3x+1=0

= 3x+1)(4x+1)=0
1 1

Sx= —-,—=
3 3

IL 6y° + 5y+ 1=0

= 2y+1)(3y+1)=0
1 1

AT T

X2y

S8. Ans.(e)
Sol.
.3x*-13x-10=0
3x2-15x+2x-10=0
(x-5)(3x+2)=0
}-F.':'m,—E

3
IL3y*+10y-8=0
=3y’ +12y-2y-8=0
= (v+4)(3y-2)=0

2

='J*j,"= —"-1',5

No relation

S9. Ans.(a)
Sol.



L. 2x°-21x+52=0
=2x%-8x-13x+52=0
= (x-4)(2x-13)=0

=x=4—

2
IL2y%-11y+12=0
= 2y°-8y-3y+12=0
= (-4 (2y-3)=0

43
= y=4-
¥

X2y

S10. Ans.(d)
Sol.

L.3x*-13x+14=0

= 3x*-6x-Tx+14=0
=(x-2)(3x-7)=0
=&x=2,§
IL2y* -5y +3=0

= 2y*-2y-3y+3=0
=(y-1)(2y-3)=0
sy=1,>

X>y

S11. Ans.(e)

Sol.

L3x*—13x+14=0

=3x>—6x—7x+14=0

=2(x—2)3x—-7)=0

=x = E,é

.3y —17y+22=0

=3y —6y— 11y +22=0

=>(-2)@By-11)=0
11

=y = 2’?

No relation

S12. Ans.(c)
Sol.



L2x*4+9x4+9=0
=2x*+6x+3x+9=0
=2(x+3)(2x+3)=0

3

:bx:-EJ_E

.4y +9y+5=0

=4y +4y+5y+5=0

>+ DM@y +5) =0=y=—1,—=
y>x

S13. Ans.(d)

Sol.

Lx*—7x+12=0
=2(x—3)(x—4)=0
=x=34%

I.2y2 — 19y + 44 =0
=2y —By— 11y +44=0
= (y—-4)Q2y-11)=0

S14. Ans.(e)

Sol.

Lx?—4x—12=0
=>x—6x+2x—12=0
=>(x—6)(x+2)=0
=x =6 -2

Ly =5y —14=10
=2y’ —Ty+2y—14=0
=(y-7y+2)=0
=y=7-2

Mo relation

S15. Ans.(a)
Sol.



.3x2 —22x+40=0
= 3x2 —12x—10x+40=0
= (x—4)(3x—10)=0
10
::'.'X:"-L?
.5y — 21y + 16 =0
= 5y? —5y— 16y +16 =0
= (y—1)(5v—16) =0
1&
:b}r:]_’?

X>y



